
 

 

Sample Model Question Paper 

General Awareness / ਜਨਰਲ ਅਵਅੈਰਨă {ਸ (ਆਮ ਜਾਗਰੁਕਤਾ) 

Q. No. Item Stem and Options Punjabi 

Q1 What is the permission granted by the holder of a 

copyright to another to use an original work? 

ਿਕਸ ੇਕਾਪੀਰਾਈਟ ਧਾਰਕ ਦਆੁਰਾ ਿਕਸ ੇਹੋਰ ਨੰੂ ਮਲੂ ਕੰਮ ਦੀ ਵਰਤ� ਕਰਨ 

ਦੇਣ ਦੀ ਇਜਾਜ਼ਤ ਨੰੂ ਕੀ ਕਿਹੰਦੇ ਹਨ? 

Q1_1 Trademark ਟਰੇਡਮਾਰਕ 

Q1_2 License ਲਾਈਸ�ਸ 

Q1_3 Certificate ਸਰਟੀਿਫਕਟੇ 

Q1_4 SSH key SSH ਕੀ 

Q2 Flood plains of rivers Ravi, Beas and Sutlej are known as 

______.  

ਰਾਵੀ, ਿਬਆਸ ਅਤੇ ਸਤਲਜੁ ਦਿਰਆਵ� ਦ ੇਹੜ� ਦ ੇਮਦੈਾਨ� ਨੰੂ ______ 

ਵਜ� ਜਾਿਣਆ ਜ�ਦਾ ਹ।ੈ 

Q2_1 Plains of Bet ਬੇਟ ਦੇ ਮਦੈਾਨ 

Q2_2 Gangatic plains ਗੰਗਾ ਦੇ ਮਦੈਾਨ� 

Q2_3 Indus plain ਿਸੰਧ/ਿਸੰਧੂ ਦੇ ਮੈਦਾਨ� 

Q2_4 Plains of wet ਚੋਏ ਵਾਲੇ ਮਦੈਾਨ� 

Q3 Pick the odd one out: Hard disks, Optical disks, Flash 

drives, Random Access Memory 

ਬੇਮੇਲ ਨੂੰ  ਚੁਣੋ : ਹਾਰਡ ਿਡਸਕਸ, ਔਪਟੀਕਲ ਿਡਸਕਸ, ਫਲੈ© ਡਰਾਈਵ, 

ਰ�ਡਮ ਐਕਸੈਸ ਮਮੈਰੋੀ 

Q3_1 Hard disks ਹਾਰਡ ਿਡਸਕਸ  



 

 

Q3_2 Optical disks ਔਪਟੀਕਲ ਿਡਸਕਸ 

Q3_3 Flash drives ਫਲੈ© ਡਰਾਈਵ 

Q3_4 Random Access Memory ਰ�ਡਮ ਐਕਸੈਸ ਮਮੈਰੋੀ 

Q4 Which of the following is a perennial river of Punjab? ਹੇਠ ਿਦੱਿਤਆਂ ਿਵੱਚ� ਿਕਹੜਾ ਪੰਜਾਬ ਦਾ ਬਾਰ�-ਮਾਸੀ ਦਿਰਆ ਹ?ੈ 

Q4_1 Beas ਿਬਆਸ 

Q4_2 Ghaggar ਘੱਗਰ 

Q4_3 Buddha Nallah ਬੁੱ ਢਾ ਨਾਲਾ 

Q4_4 Aki Kiran Nallah ਅਕੀ ਿਕਰਨ ਨਾਲਾ 

Q5 Which among the following is used in mobile phones? ਇਹਨ� ਿਵੱਚ� ਿਕਹੜਾ ਮੋਬਾਈਲ ਫੋਨ� ਿਵੱਚ ਵਰਿਤਆ ਜ�ਦਾ ਹ?ੈ 

Q5_1 Compact Disk ਕ�ਪੈਕਟ ਿਡਸਕ 

Q5_2 Blue-Ray Disks ਬਲ-ੂਰੇ ਿਡਸਕ 

Q5_3 Memory Card ਮੈਮੋਰੀ ਕਾਰਡ 

Q5_4 DVD DVD 

Q6 Which customized software is used by all modern 

organizations to keep track of employees of the 

organization who receives wages or salary? 

ਸਾਰੇ ਆਧੁਿਨਕ ਸੰਗਠਨ� ਦੁਆਰਾ ਮਜਦੂਰੀ ਜ� ਤਨਖਾਹ ਪ�ਾਪਤ ਕਰਨ 

ਵਾਲੇ ਸੰਗਠਨ ਦ ੇਕਰਮਚਾਰੀਆਂ ਦਾ ਟਰਕੈ ਰੱਖਣ ਲਈ ਿਕਹੜਾ ਅਨੁਕੂਿਲਤ 

ਸਾਫਟਵੇਅਰ ਵਰਿਤਆ ਜ�ਦਾ ਹ?ੈ 

Q6_1 Inventory Management System ਵਸਤ ੂਪ�ਬੰਧਨ ਿਸਸਟਮ 

Q6_2 Payroll System ਪੇਰਲੋ ਿਸਸਟਮ 

Q6_3 Reservation System ਿਰਜ਼ਰਵ©ੇਨ ਿਸਸਟਮ 



 

 

Q6_4 School Management System ਸਕੂਲ ਪ�ਬੰਧਨ ਿਸਸਟਮ 

Q7 _______ indicates the realm of living organisms and their 

interactions with environment. 

_______ ਸੰਜੀਵ ਜੀਵ-ਜੰਤੂਆ ਂਦ ੇਖੇਤਰ ਅਤੇ ਵਾਤਾਵਰਨ ਨਾਲ ਉਨ� � 

ਦੀਆ ਂਅੰਤਰਿਕਿਰਆਵ� ਨੰੂ ਦਰਸਾ�ਦਾ ਹ।ੈ 

Q7_1 Atmosphere ਵਾਯਮੰੂਡਲ 

Q7_2 Biosphere ਬਾਇਓਸਫ਼ੀਅਰ 

Q7_3 Hydrosphere ਹਾਈਡ�ੋਸਫ਼ੀਅਰ 

Q7_4 Lithosphere ਲੀਥੋਸਫ਼ੀਅਰ 

Q8 Kartar Singh Sarabha is associated with ______. ਕਰਤਾਰ ਿਸੰਘ ਸਰਾਭਾ ______ ਨਾਲ ਜੁਿੜਆ ਹਇੋਆ ਸੀ। 

Q8_1 The Ghadar Movement ਗਦਰ ਲਿਹਰ 

Q8_2 Peasant Movement ਿਕਸਾਨ ਅੰਦੋਲਨ 

Q8_3 Arya Samaj ਆਰੀਆ ਸਮਾਜ 

Q8_4 
Kuka Movement 

ਕੂਕਾ ਅੰਦੋਲਨ 

Q9 Where is the Gurudwara Dera Baba Nanak located? ਗੁਰਦੁਆਰਾ ਡੇਰਾ ਬਾਬਾ ਨਾਨਕ ਿਕੱਥ ੇਸਿਥਤ ਹੈ? 

Q9_1 Ropar ਰੋਪੜ 

Q9_2 Patiala ਪਿਟਆਲਾ 

Q9_3 Chandigarh ਚੰਡੀਗੜ� 

Q9_4 Gurdaspur ਗੁਰਦਾਸਪੁਰ 



 

 

Q10 Which of the following is used in making the leads of 

pencils? 

ਹੇਠ ਿਦੱਿਤਆਂ ਿਵੱਚ� ਿਕਸਦੀ ਵਰਤ� ਪਨੈਿਸਲ ਦਾ ਿਸੱਕਾ ਬਣਾਉਣ ਲਈ ਕੀਤੀ 

ਜ�ਦੀ ਹ?ੈ 

Q10_1 Graphite ਗ�ੇਫਾਈਟ 

Q10_2 Iron ਲੋਹਾ 

Q10_3 Manganese ਮ�ਗਨੀਜ਼ 

Q10_4 Phosphorous ਫ਼ਾਸਫੋਰਸ 

Q11 Which is the highest capacity thermal Power Plant in 

Punjab? 

ਪੰਜਾਬ ਿਵੱਚ ਸਭ ਤ� ਵੱਧ ਸਮਰੱਥਾ ਵਾਲਾ ਥਰਮਲ ਪਾਵਰ ਪਲ�ਟ ਿਕਹੜਾ 

ਹ?ੈ 

Q11_1 Rajpura Thermal Power Plant ਰਾਜਪੁਰਾ ਥਰਮਲ ਪਾਵਰ ਪਲ�ਟ 

Q11_2 Talwandi Sabo Power Project ਤਲਵੰਡੀ ਸਾਬ ੋਪਾਵਰ ਪ�ਜੈੋਕਟ 

Q11_3 Guru Gobind Singh Super Thermal Power Plant ਗੁਰ ੂਗੋਿਬੰਦ ਿਸੰਘ ਸੁਪਰ ਥਰਮਲ ਪਾਵਰ ਪਲ�ਟ 

Q11_4 Guru Hargobind Thermal Plant ਗੁਰ ੂਹਿਰਗੋਿਬੰਦ ਥਰਮਲ ਪਲ�ਟ 

Q12 Name the river that flows through Punjab and is also 

known as Satadree? 

ਉਸ ਨਦੀ ਦਾ ਨਾਮ ਦੱਸੋ, ਜੋ ਪੰਜਾਬ ਿਵੱਚ� ਲੰਘਦੀ ਹ ੈਅਤੇ ਉਸਨੰੂ ਸੱਤਦ�ੀ 

(Satadree) ਵੀ ਿਕਹਾ ਜ�ਦਾ ਹ?ੈ 

Q12_1 Ravi ਰਵੀ 

Q12_2 Beas ਿਬਆਸ 

Q12_3 Sutlej ਸਤਲੁਜ 

Q12_4 Chenab ਚਨਾਬ 



 

 

Q13 According to 2011 census, what is the child sex ratio of 

Punjab? 

ਸਾਲ 2011 ਦੀ ਮਰਦਮ©ੁਮਾਰੀ ਦੇ ਅਨੁਸਾਰ, ਪੰਜਾਬ ਦਾ ਬਾਲ ਿਲੰਗ 

ਅਨੁਪਾਤ ਿਕੰਨਾ ਹ?ੈ 

Q13_1 846 846 

Q13_2 880 880 

Q13_3 798 798 

Q13_4 908 908 

Q14 In India ‘residuary power’ lies in the hands of: ਭਾਰਤ ਿਵੱਚ ‘ਅਵ©©ੇ ©ਕਤੀ (residuary power)’ ________ ਦੇ ਹੱਥ 

ਿਵੱਚ ਹ।ੈ 

Q14_1 the Central government  ਕ�ਦਰ ਸਰਕਾਰ 

Q14_2 the State government ਰਾਜ ਸਰਕਾਰ 

Q14_3 the President of India ਭਾਰਤ ਦੇ ਰਾਸ਼ਟਰਪਤੀ 

Q14_4 the Governor ਰਾਜਪਾਲ 

Q15 Under which of the following articles of the Constitution 

of India was it provided that President’s Rule may be 

imposed on a state due to failure of the constitutional 

machinery? 

ਭਾਰਤ ਦੇ ਸੰਿਵਧਾਨ ਦ ੇਇਨ� � ਿਵੱਚ� ਿਕਸ ਅਨੁਛਦੇ ਦ ੇਤਿਹਤ ਇਹ 

ਬੰਦਬੋਸਤ ਕੀਤਾ ਿਗਆ ਸੀ ਿਕ ਸੰਿਵਧਾਨਕ ਮ©ੀਨਰੀ ਦ ੇਅਸਫਲਤਾ ਹੋਣ 

'ਤੇ ਿਕਸੇ ਰਾਜ ਿਵੱਚ ਰਾ©ਟਰਪਤੀ ਸ਼ਾਸਨ ਲਾਗੂ ਕੀਤਾ ਜਾ ਸਕਦਾ ਹ?ੈ 

Q15_1 Article 352 ਅਨੁਛਦੇ 352 

Q15_2 Article 356 ਅਨੁਛਦੇ 356 

Q15_3 Article 360 ਅਨੁਛਦੇ 360 



 

 

Q15_4 Article 364 ਅਨੁਛਦੇ 364 

Q16 Every year, Punjab celebrates its statehood day, i.e., the 

day the state was formed under the Punjab Reorganisation 

Act, 1966, on _______. 

ਹਰ ਸਾਲ, ਪੰਜਾਬ ਰਾਜ ਦਾ ਦਰਜਾ, ਿਜਵ� ਉਹ ਿਦਨ ਜਦ� ਪੰਜਾਬ 

ਰੀਓਰਗੇਨਾਇਜੇਸ਼ਨ ਐਕਟ 1966 ਦ ੇਤਿਹਤ ਗਿਠਤ ਕੀਤਾ ਿਗਆ, 

_____ ਨੰੂ ਮਨਾਇਆ ਜ�ਦਾ ਹ।ੈ 

Q16_1 1 November 1 ਨਵੰਬਰ 

Q16_2 12 July 12 ਜੁਲਾਈ 

Q16_3 3 October 3 ਅਕਤੂਬਰ 

Q16_4 10 March 10 ਮਾਰਚ 

Quantitative Aptitude and Numerical Skills / ਮਾਤਰਾਤਮਕ ਯੋਗਤਾ ਅਤ ੇਸੰਿਖਆਤਮਕ ਹੁਨਰ 

Q17 What is the total number of digits used in numbering the 

pages of a book having 456 pages? 

456 ਪੰਿਨਆਂ ਵਾਲੀ ਿਕਸ ੇਿਕਤਾਬ ਦੇ ਪੰਿਨਆ ਂਦਾ ਅੰਕਣ ਕਰਨ ਲਈ ਕੁੱ ਲ 

ਿਕੰਨĂ  ਅੰਕ� ਦੀ ਵਰਤ� ਕੀਤੀ ਜ�ਦੀ ਹ?ੈ 

Q17_1 1260 1260 

Q17_2 1290 1290 

Q17_3 1350 1350 

Q17_4 2550 2550 

Q18 6202.6 + 620.26 + 62.026 + 6.2026 + 0.62026 is equal to: 6202.6 + 620.26 + 62.026 + 6.2026 + 0.62026 ਿਕਸ 

ਦੇ ਬਰਾਬਰ ਹ?ੈ 

Q18_1 6861.70886 6861.70886 

Q18_2 6896.70886 6896.70886 



 

 

Q18_3 6891.70886 6891.70886 

Q18_4 6891.60676 6891.60676 

Q19 Which of the following sets of fractions is in ascending 

order? 

ਹੇਠ ਿਦੱਿਤਆਂ ਿਵੱਚ� ਿਭੰਨ� ਦਾ ਿਕਹੜਾ ਸਮੂਹ ਵੱਧਦ ੇਕ�ਮ ਿਵੱਚ ਹ?ੈ 
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Q20 Solve using BODMAS: 9 + 9 × 9 - 9 ÷ 9 BODMAS ਦੀ ਵਰਤ� ਕਰਕ ੇ9 + 9 × 9 - 9 ÷ 9 ਨੂੰ  ਹੱਲ ਕਰ ੋ

Q20_1 9 9 

Q20_2 81 81 

Q20_3 1 1 

Q20_4 89 89 

Q21 Nimmi buys a beauty product for ₹250 and sells it for 

₹280. Find her gain percentage. 

ਿਨੰਮੀ ₹250 ਿਵੱਚ ਇੱਕ ਸੁੰ ਦਰਤਾ ਉਤਪਾਦ ਖਰੀਦਦੀ ਹੈ ਅਤੇ ਇਸ ਨੰੂ 

₹280 ਿਵੱਚ ਵੇਚ ਿਦੰਦੀ ਹੈ। ਉਸ ਦਾ ਲਾਭ ਪ�ਤੀ©ਤ ਪਤਾ ਕਰੋ। 

Q21_1 12% 12% 



 

 

Q21_2 12.5% 12.5% 

Q21_3 15% 15% 

Q21_4 30% 30% 

Q22 If X : Y = 4 : 7 and Y : Z = 6 : 10, then find X : Y : Z. ਜੇ X : Y = 4 : 7 ਅਤ ੇY : Z = 6 : 10 ਹ,ੈ ਤ� X : Y : Z ਪਤਾ ਕਰੋ। 

Q22_1 3 : 2: 4 3 : 2: 4 

Q22_2 7 : 10: 12 7 : 10: 12 

Q22_3 12 : 21: 35 12 : 21: 35 

Q22_4 12 : 21: 36 12 : 21: 36 

Q23 Find the simple interest on ₹55,000 at 15% per annum for 

2 years. 

₹55,000 'ਤ ੇ15% ਸਲਾਨਾ 'ਤੇ 2 ਸਾਲ� ਦਾ ਸਧਾਰਣ ਿਵਆਜ ਪਤਾ ਕਰ।ੋ 

Q23_1 ₹15,000 ₹15,000 

Q23_2 ₹16,500 ₹16,500 

Q23_3 ₹19,500 ₹19,500 

Q23_4 ₹20,000 ₹20,000 

Q24 Two equal sums of money were lent at simple interest at 

10% per annum for 3 years and 4 years, respectively. If the 

difference in the interests for the two periods was ₹450, 

then how much is each sum? 

ਦੋ ਸਮਾਨ ਰਾਸ਼ੀਆ ਂਨੰੂ ਕ�ਮਵਾਰ 3 ਸਾਲ� ਅਤੇ 4 ਸਾਲ� ਲਈ 10% 

ਸਾਲਾਨਾ ਸਧਾਰਣ ਿਵਆਜ 'ਤੇ ਉਧਾਰ ਿਦੱਤਾ ਿਗਆ ਸੀ। ਜੇ ਦ ੋਅਵਧੀਆਂ 

ਲਈ ਿਵਆਜ� ਿਵੱਚ ਅੰਤਰ ₹450 ਸੀ, ਤ� ਹਰੇਕ ਰਾਸੀ ਿਕੰਨੀ ਹ?ੈ 

Q24_1 ₹4,250 ₹4,250 



 

 

Q24_2 ₹4,400 ₹4,400 

Q24_3 ₹4,500 ₹4,500 

Q24_4 ₹4,750 ₹4,750 

Q25 A and B together can complete a piece of work in 6 days. 

If A alone can complete the same work in 15 days, then in 

how many days can B alone complete the work? 

A ਅਤੇ B ਿਮਲ ਕ ੇਇੱਕ ਕੰਮ ਨੂੰ  6 ਿਦਨ� ਿਵੱਚ ਪਰੂਾ ਕਰ ਸਕਦੇ ਹਨ। ਜੇ A 

ਇਕੱਲਾ ਉਸ ੇਕੰਮ ਨੂੰ  15 ਿਦਨ� ਿਵੱਚ ਪਰੂਾ ਕਰ ਸਕਦਾ ਹ,ੈ ਤ� B ਇਕੱਲਾ 

ਉਸ ੇਕੰਮ ਨੰੂ ਿਕੰਨĂ  ਿਦਨ� ਿਵੱਚ ਕੰਮ ਪਰੂਾ ਕਰ ਸਕਦਾ ਹ?ੈ 

Q25_1 8 days 8 ਿਦਨ 

Q25_2 9 days 9 ਿਦਨ 

Q25_3 10 days 10 ਿਦਨ 

Q25_4 12 days 12 ਿਦਨ 

Q26 The following bar graph depicts the outcome of a survey 

of the colour of cars manufactured by a company in the 

ਹੇਠ� ਿਦੱਤਾ ਬਾਰ ਗ�ਾਫ਼ ਸਾਲ 2019 ਦੀ ਪਿਹਲੀ ਿਤਮਾਹੀ ਿਵੱਚ ਇੱਕ 

ਕੰਪਨੀ ਦਆੁਰਾ ਿਨਰਿਮਤ ਕਾਰ� ਦੇ ਰੰਗ ਦ ੇਸਰਵੇਖਣ ਦ ੇਨਤੀਜੇ ਨੂੰ  

ਦਰਸਾ�ਦਾ ਹ।ੈ 



 

 

first quarter of the year 2019. 

 

Find the percentage of green cars manufactured. 

 
 

ਿਨਰਿਮਤ ਹਰੀਆਂ ਕਾਰ� ਦਾ ਪ�ਤੀਸ਼ਤ ਪਤਾ ਕਰ।ੋ 

Q26_1 40% 40% 

Q26_2 32% 32% 

Q26_3 20% 20% 

Q26_4 8% 8% 

 

Q27 

The following diagram is frequency polygon that shows 

the scores of students in an aptitude test for admission to a 

ਹੇਠ� ਿਦੱਤੀ ਡਾਇਗ�ਾਮ ਇੱਕ ਬਾਰੰਬਾਰਤਾ ਬੁਹਭਜੁ ਹੈ ਿਜਹੜਾ ਿਕ ਇੱਕ 

ਪੇਸ਼ਾਵਾਰ ਕੋਰਸ ਦੀ ਯੋਗਤਾ ਪਰੀਿਖਆ ਿਵੱਚ ਿਵਿਦਆਰਥੀਆਂ ਦੇ ਅੰਕ 

ਦਰਸਾ�ਦਾ ਹ?ੈ 



 

 

professional course. 

 

If the minimum requirement for admission be a score of 

475, then how many students are eligible for admission? 

 
ਜੇਕਰ ਦਾਖਲੇ ਲਈ ਘੱਟ�-ਘੱਟ ਲੋੜ�ਦੇ ਅੰਕ 475 ਹਨ ਤ� ਿਕੰਨĂ  

ਿਵਿਦਆਰਥੀ ਦਾਖਲਾ ਲੈਣ ਦ ੇਯਗੋ ਹਨ। 

Q27_1  130  130 

Q27_2  110  110 

Q27_3  160  160 

Q27_4  175  175 



 

 

Mental Ability and Logical Reasoning / ਮਾਨਿਸਕ ਯੋਗਤਾ ਅਤੇ ਤਰਕ ਯੋਗਤਾ 

Q28 In the question given below, there are two statements 

marked as Assertion (A) and Reason (R). Mark your 

answer as per the codes in options : 

Assertion (A): We slip while dancing on a shiny floor. 

Reason (R) : Friction is less on a shiny surface. 

ਹੇਠ� ਿਦੱਤ ੇਗਏ ਪ�ਸ਼ਨ ਿਵੱਚ ਦ ੋਕਥਨ� ਨੰੂ ਦਾਅਵਾ (A) ਅਤ ੇਕਾਰਨ 

(R)ਵਜ� ਿਚੰਿਨ� ਤ ਕੀਤਾ ਿਗਆ ਹੈ। ਆਪਣ ੇ�ਤਰ ਨੂੰ  ਿਵਕਲਪ� ਿਵੱਚ ਿਦੱਤ ੇ

ਕੋਡ� ਅਨੁਸਾਰ ਿਚੰਿਨ� ਤ ਕਰੋ। 

ਦਾਅਵਾ (A): ਅਸ� ਚਮਕਦਾਰ ਫਰਸ਼ �ਤ ੇਨੱਚਦ ੇਸਮ� ਿਫਸਲਦ ੇਹ�। 

ਕਾਰਨ (R) : ਚਮਕਦਾਰ ਫਰਸ਼ �ਤ ੇਰਗੜ ਘੱਟ ਹੁੰ ਦੀ ਹੈ। 

Q28_1 Both A and R are true and R is the correct explanation of 

A. 

ਦੋਵ� A ਅਤ ੇR ਸੱਚ ਹਨ ਅਤੇ R, A ਦੀ ਸਹੀ ਿਵਆਿਖਆ ਹੈ। 

Q28_2 Both A and R are true but R is not the correct explanation 

of A. 

ਦੋਵ� A ਅਤ ੇR ਸੱਚ ਹਨ ਪਰ R, A ਦੀ ਸਹੀ ਿਵਆਿਖਆ ਨਹ� ਹ।ੈ 

Q28_3 A is true but R is false. A ਸਹੀ ਪਰ R ਗਲਤ ਹ ੈ

Q28_4 A is false but R is true. A ਗਲਤ ਹ ੈਪਰ R ਸਹੀ ਹ।ੈ 

Q29 Find the missing term in the following letter series: 

WVUT, RQPO, MLKJ, ________ 

ਹੇਠ� ਿਦੱਤੀ ਅੱਖਰ ਲੜੀ ਿਵੱਚ ਲੁਪਤ ਪਦ ਪਤਾ ਕਰੋ: 

WVUT, RQPO, MLKJ, ____ 

Q29_1 HIFE HIFE 

Q29_2 EFGH EFGH 

Q29_3 HGFE HGFE 

Q29_4 HGEF HGEF 



 

 

Q30 Find the missing term in the following letter series: 

MIN, _______, MQN, MUN 

ਹੇਠ� ਿਦੱਤੀ ਅੱਖਰ ਲੜੀ ਿਵੱਚ ਲੁਪਤ ਪਦ ਪਤਾ ਕਰੋ: 

MIN, _______, MQN, MUN 

Q30_1 MLN MLN 

Q30_2 MNN MNN 

Q30_3 MMN MMN 

Q30_4 MON MON 

Q31 A woman introduced a man as the son of the only daughter 

of the father of her brother. The woman is the man’s: 

ਇੱਕ ਔਰਤ ਨĂ  ਇੱਕ ਆਦਮੀ ਦੀ ਆਪਣੇ ਭਰਾ ਦ ੇਿਪਤਾ ਦੀ ਇਕਲੌਤੀ ਧੀ ਦ ੇ

ਪੁੱ ਤਰ ਵਜ� ਜਾਣ-ਪਛਾਣ ਕਰਾਈ। ਔਰਤ ਦਾ ਆਦਮੀ ਨਾਲ ਕੀ ਿਰਸਤਾ ਹ?ੈ 

Q31_1 Mother ਮ� 

Q31_2 Daughter ਧੀ 

Q31_3 Sister ਭੈਣ 

Q31_4 Father's mother ਿਪਤਾ ਦੀ ਮ� 

Q32 Three different positions of the same dice are shown 

below. Which symbol is on the face opposite the face 

showing 'V'? 

 

ਹੇਠ� ਇੱਕ ਹੀ ਪਾਸੇ ਦੀਆ ਂਿਤੰਨ ਵੱਖ-ਵੱਖ ਸਿਥਤੀਆਂ ਿਦਖਾਈਆ ਂਗਈਆਂ 

ਹਨ। 'V' ਨੂੰ  ਦਰਸਾਉਣ ਵਾਲੇ ਫ਼ਲਕ ਦੇ ਿਵਰੋਧੀ ਫ਼ਲਕ �ਤੇ ਿਕਹੜਾ ਿਚੰਨ�  

ਹੈ?  

 
Q32_1 Q Q 



 

 

Q32_2 S S 

Q32_3 Z Z 

Q32_4 D D 

Q33 Vicky started cycling towards south direction for 8km, 

turned right and cycled 4 km then again turned right and 

cycled 8km, from there he took a left turn and cycled 8km. 

In which direction he is from the starting point? 

ਿਵੱਕੀ ਨĂ  8km ਲਈ ਦੱਖਣ ਿਦਸ਼ਾ ਵੱਲ ਸਾਇਕਲ ਚਲਾਉਣੀ ਸ਼ੁਰ ੂਕੀਤੀ, 

ਸੱਜੇ ਮੁਿੜਆ ਅਤੇ 4km ਸਾਇਕਲ ਚਲਾਈ ਿਫਰ ਦਬੁਾਰਾ ਸੱਜੇ ਮੁਿੜਆ ਅਤ ੇ

8km ਸਾਇਕਲ ਚਲਾਈ, ਇੱਥ� ਉਸਨĂ  ਖੱਬਾ ਮੜੋ ਿਲਆ ਅਤੇ 8km 

ਸਾਇਕਲ ਚਲਾਈ। ਆਰੰਭ ਿਬੰਦੂ ਤ� ਉਹ ਿਕਹੜੀ ਿਦਸ਼ਾ ਿਵੱਚ ਹ?ੈ 

Q33_1 East ਪੂਰਬ  

Q33_2 West ਪੱਛਮ  

Q33_3 North �ਤਰ  

Q33_4 South ਦੱਖਣ  

Q34 In a row of 54 persons, Vikas is 32nd from the left side of 

the row and Vishal is 27th from the right side of the row. 

Find out the number of persons sitting between them. 

54 ਿਵਅਕਤੀਆ ਂਦੀ ਇੱਕ ਕਤਾਰ ਿਵੱਚ, ਕਤਾਰ ਦੇ ਖੱਬੇ ਿਸਰ ੇਤ� ਿਵਕਾਸ 

32ਵ� ਸਥਾਨ �ਤ ੇਅਤ ੇਕਤਾਰ ਦ ੇਸੱਜੇ ਿਸਰ ੇਤ� ਿਵਸ਼ਾਲ 27ਵ� ਸਥਾਨ �ਤ ੇ

ਹ।ੈ ਉਹਨ� ਦੋਹ� ਿਵਚਕਾਰ ਬੈਠĂ  ਿਵਅਕਤੀਆਂ ਦੀ ਸੰਿਖਆ ਪਤਾ ਕਰ।ੋ 

Q34_1 2 2 

Q34_2 3 3 

Q34_3 4 4 

Q34_4 5 5 



 

 

Q35 Which of the following answer figure completes the series 

of the question figure? 

 

 

ਹੇਠ� ਿਦੱਿਤਆ ਂਿਵੱਚ� ਿਕਹੜੀ �ਤਰ ਆਿਕ�ਤੀ, ਪ�ਸ਼ਨ ਆਿਕ�ਤੀ ਦੀ ਲੜੀ ਨੂੰ  

ਪੂਰੀ ਕਰਦੀ ਹੈ? 

 

 
Q35_1 

 
 

Q35_2 

 
 

Q35_3 

 
 



 

 

Q35_4 

 
 

Q36 Select the option that is related to the third letter-cluster in 

the same way as the second letter-cluster is related to the 

first letter-cluster. 

GHI : WVU :: IHG : ? 

ਉਸ ਿਵਕਲਪ ਦੀ ਚਣੋ ਕਰੋ ਜੋ ਤੀਜੇ ਅੱਖਰ-ਸਮੂਹ ਨਾਲ ਉਸੇ ਤਰ�� ਸੰਬੰਧਤ 

ਹੋਵੇ ਿਜਸ ਤਰ�� ਦੂਜਾ ਅੱਖਰ-ਸਮੂਹ ਪਿਹਲੇ ਅੱਖਰ-ਸਮੂਹ ਨਾਲ ਸੰਬੰਧਤ ਹ।ੈ 

GHI : WVU :: IHG : ? 

Q36_1 VWU VWU 

Q36_2 UVW UVW 

Q36_3 VUW VUW 

Q36_4 UVV UVV 

Q37 Select the number that can replace the question mark (?) in 

the following series. 

360, ?, 180, 60, 15, 3 

ਉਹ ਸੰਿਖਆ ਚਣੋੁ ਜੋ ਹੇਠ� ਿਦੱਤੀ ਲੜੀ ਿਵੱਚ ਪ�ਸ਼ਨ ਿਚੰਨ�  (?) ਦੀ ਥ� ਲੈ 

ਸਕ।ੇ 

360, ?, 180, 60, 15, 3 

Q37_1 200 200 

Q37_2 250 250 

Q37_3 300 300 

Q37_4 360 360 



 

 

Q38 Select the Venn diagram that best represents the 

relationship between the following classes.  

Daughters, Females, Human Beings  

ਉਸ ਵੈਨ ਿਚੱਤਰ ਦੀ ਚੋਣ ਕਰੋ ਜੋ ਹੇਠ� ਿਦੱਤੀਆਂ ਸ਼�ਣੇੀਆਂ ਦੇ ਸੰਬੰਧ ਨੰੂ ਸਭ 

ਤ� ਵਧੀਆ ਦਰਸਾ�ਦਾ ਹ।ੈ  

ਧੀਆਂ, ਔਰਤ�, ਮਨੱੁਖ  

Q38_1 

  

Q38_2 

  

Q38_3 

  

Q38_4 

  



 

 

Q39 Which of the following words will appear third if all of 

them are arranged in alphabetical order as in an English 

dictionary? 

ਅੰਗਰੇਜ਼ੀ ਸ਼ਬਦ ਕਸ਼ੋ ਅਨੁਸਾਰ ਅੰਗਰਜ਼ੇੀ ਦ ੇਅੱਖਰ ਕ�ਮ ਿਵੱਚ ਿਵਵਸਿਥਤ 

ਕਰਨ ‘ਤੇ ਹਠੇ ਿਦੱਤ ੇਸ਼ਬਦ� ਿਵੱਚ� ਿਕਹੜਾ ਤੀਜੇ ਨੰਬਰ ‘ਤੇ ਆਵੇਗਾ? 

Q39_1 Advantage Advantage 

Q39_2 Advance Advance 

Q39_3 Adventurous Adventurous 

Q39_4 Adventure Adventure 

Language Skills (Punjabi/ English) / ਭਾਸ਼ਾਈ ਦੇ ਹਨੁਰ (ਪੰਜਾਬੀ/ਅੰਗਰੇਜ਼ੀ) 

Q40 Identify the segment in the sentence which contains a 

grammatical error. 

I could not be able / to solve / this very / difficult equation. 

Identify the segment in the sentence which contains a 
grammatical error. 
 
I could not be able / to solve / this very / difficult equation. 

Q40_1 I could not be able I could not be able 

Q40_2 to solve to solve 

Q40_3 this very this very 

Q40_4 difficult equation. difficult equation. 

Q41 Select the most appropriate SYNONYM of the given 

word. 

ENDORSE 

Select the most appropriate SYNONYM of the given word. 
 
ENDORSE 



 

 

Q41_1 criticise criticise 

Q41_2 prevent prevent 

Q41_3 support support 

Q41_4 absorb absorb 

Q42 ‘ਮ� ਇਹ ਸਵਾਲ ਹੱਲ ਕਰ ਸਕਦਾ ਹ�’ ਵਾਕ ਦਾ ਸਹੀ ਅੰਗਰੇਜ਼ੀ ਅਨੁਵਾਦ 

ਹੈ। 

‘ਮ� ਇਹ ਸਵਾਲ ਹੱਲ ਕਰ ਸਕਦਾ ਹ�’ ਵਾਕ ਦਾ ਸਹੀ ਅੰਗਰੇਜ਼ੀ ਅਨੁਵਾਦ 

ਹੈ। 

Q42_1 I can do this question. I can do this question. 

Q42_2 I can solve this sum. I can solve this sum. 

Q42_3 I solve this question. I solve this question. 

Q42_4 This question can be solved by me. This question can be solved by me. 

Passage 

English 

Read the following passage and answer the questions 
based on it. 
Spring was very pleasant in Dehra, and it was a far longer 
one than in the plains below. The winter had denuded 
almost all the trees of their leaves, and they stood naked 
and bare. Even four magnificent peepal trees, which stood 
in front of the goal gate, much to my surprise, dropped 
nearly all their leaves. Gaunt and cheerless they stood 
there, till the spring air warmed them up again and sent a 
message of life to their innermost cells. Suddenly there 
was a stir both, in the peepals and the other trees, and an 
air of mystery surrounded them as of secret operations 

Read the following passage and answer the questions based on 
it. 
 
Spring was very pleasant in Dehra, and it was a far longer one 
than in the plains below. The winter had denuded almost all 
the trees of their leaves, and they stood naked and bare. Even 
four magnificent peepal trees, which stood in front of the goal 
gate, much to my surprise, dropped nearly all their leaves. 
Gaunt and cheerless they stood there, till the spring air 
warmed them up again and sent a message of life to their 
innermost cells. Suddenly there was a stir both, in the peepals 
and the other trees, and an air of mystery surrounded them as 



 

 

going on behind the scenes; and I would be startled to find 
little bits of green peeping out all over them. It was a gay 
and cheering sight. And then, very rapidly, the leaves 
would come out in their millions and glisten in the 
sunlight and play about in the breeze. How wonderful is 
the sudden change from bud to leaf! 
I had never noticed before that fresh mango leaves are 
reddish brown, rust colored, remarkably like the autumn 
tints on the Kashmir hills. But they change color soon and 
become green. 
 
The monsoon rains were always welcome, for they ended 
this summer heat. But one could have too much of a good 
thing, and Dehradun, one of the favored hunts of the rain 
god, within the first five or six weeks of the break of the 
monsoon would have about fifty or sixty inches of rain, 
and it wasn't pleasant to sit cooped up in a little narrow 
place trying to avoid the water dripping from the ceiling or 
rushing in from the windows. 
 
Autumn again was pleasant, and so was the winter, except 
when it rained. With thunder and rain and piercing cold 
winds, one longed for a decent habitation and a little 
warmth and comfort. Occasionally there would be a 
hailstorm, with hailstones bigger than marbles coming 

of secret operations going on behind the scenes; and I would 
be startled to find little bits of green peeping out all over them. 
It was a gay and cheering sight. And then, very rapidly, the 
leaves would come out in their millions and glisten in the 
sunlight and play about in the breeze. How wonderful is the 
sudden change from bud to leaf! 
I had never noticed before that fresh mango leaves are reddish 
brown, rust colored, remarkably like the autumn tints on the 
Kashmir hills. But they change color soon and become green. 
 
The monsoon rains were always welcome, for they ended this 
summer heat. But one could have too much of a good thing, 
and Dehradun, one of the favored hunts of the rain god, within 
the first five or six weeks of the break of the monsoon would 
have about fifty or sixty inches of rain, and it wasn't pleasant 
to sit cooped up in a little narrow place trying to avoid the 
water dripping from the ceiling or rushing in from the 
windows. 
 
Autumn again was pleasant, and so was the winter, except 
when it rained. With thunder and rain and piercing cold winds, 
one longed for a decent habitation and a little warmth and 
comfort. Occasionally there would be a hailstorm, with 
hailstones bigger than marbles coming down on the corrugated 



 

 

down on the corrugated iron roofs and making a 
tremendous noise, something like an artillery 
bombardment.  
 
I remember one day particularly; it was the 24th of 
December 1932. There was a thunderstorm and rain all the 
day, and it was bitterly cold. Altogether it was one of the 
most miserable days, from the bodily point of view, that I 
have spent in goal. In the evening it cleared up suddenly, 
and all my misery departed when I saw all the 
neighbouring mountains and hills covered with a thick 
mantle of snow. The next day – Christmas Day – was 
lovely and clear, and there was a beautiful view of snow-
covered mountains. 
 
Prevented from indulging in normal activities we became 
more observant of nature’s ways. We watched also the 
various animals and insects that came our way. As I grew 
more observant I noticed all manner of insects living in 
my cell or in the little yard outside. I realized that while I 
complained of loneliness, that yard, which seemed empty 
and deserted, was teeming with life. 

iron roofs and making a tremendous noise, something like an 
artillery bombardment.  
 
I remember one day particularly; it was the 24th of December 
1932. There was a thunderstorm and rain all the day, and it 
was bitterly cold. Altogether it was one of the most miserable 
days, from the bodily point of view, that I have spent in goal. 
In the evening it cleared up suddenly, and all my misery 
departed when I saw all the neighbouring mountains and hills 
covered with a thick mantle of snow. The next day – 
Christmas Day – was lovely and clear, and there was a 
beautiful view of snow-covered mountains. 
 
Prevented from indulging in normal activities we became 
more observant of nature’s ways. We watched also the various 
animals and insects that came our way. As I grew more 
observant I noticed all manner of insects living in my cell or in 
the little yard outside. I realized that while I complained of 
loneliness, that yard, which seemed empty and deserted, was 
teeming with life. 

Q43 Find the word from the passage which means the same as 

‘large guns that are used to shoot over a great distance’ 

Find the word from the passage which means the same as 
‘large guns that are used to shoot over a great distance’ 



 

 

Q43_1 Cooped Cooped 

Q43_2 Artillery Artillery 

Q43_3 Denuded Denuded 

Q43_4 Habitation Habitation 

Q44 What happened to the trees in winter? What happened to the trees in winter? 

Q44_1 Trees were laden with fruits. Trees were laden with fruits. 

Q44_2 The branches became brown. The branches became brown. 

Q44_3 Trees shed their leaves. Trees shed their leaves. 

Q44_4 Trees were attacked by locusts. Trees were attacked by locusts. 

Q45 The leaves of the mango tree turned ______ in later stages. The leaves of the mango tree turned _____ in later stages. 

Q45_1 brown brown 

Q45_2 reddish-brown reddish-brown 

Q45_3 green green 

Q45_4 russet coloured russet coloured 

Q46 Why did the writer remember 24th December 1932? Why did the writer remember 24th December 1932? 

Q46_1 It was a rain and cold day. It was a rain and cold day. 

Q46_2 It was a very warm day. It was a very warm day. 

Q46_3 Heavy snow fell that day. Heavy snow fell that day. 



 

 

Q46_4 It was Christmas day. It was Christmas day. 

Q47 Why did the writer feel that he was not lonely in the goal? Why did the writer feel that he was not lonely in the goal? 

Q47_1 He was accompanied by his friends. He was accompanied by his friends. 

Q47_2 He was accompanied by animals and insects. He was accompanied by animals and insects. 

Q47_3 He was busy in manual work. He was busy in manual work. 

Q47_4 He enjoyed heavy rainfall. He enjoyed heavy rainfall. 

Q48 ਹੇਠ� ਿਲਿਖਆ ਂਿਵੱਚ� ਸ਼ੁੱ ਧ ਸ਼ਬਦ ਚੁਣ।ੋ ਹੇਠ� ਿਲਿਖਆਂ ਿਵੱਚ� ਸ਼ੁੱ ਧ ਸ਼ਬਦ ਚਣੁ।ੋ 

Q48_1 ਿਜੰਦਗੀ  ਿਜੰਦਗੀ  

Q48_2 ਿਜਂਦਗੀ  ਿਜਂਦਗੀ  

Q48_3 ਿਜ਼ੰਦਗੀ  ਿਜ਼ੰਦਗੀ  

Q48_4 ਿਜ਼ਦਗੀ  ਿਜ਼ਦਗੀ  

Q49 ‘ਪੰਜੇ �ਗਲੀਆ ਂ______ ਨਹ� ਹੁੰ ਦੀਆ’ਂ, ਅਖਾਣ ਨੂੰ  ਪੂਰਾ ਕਰ।ੋ  ‘ਪੰਜੇ �ਗਲੀਆ ਂ______ ਨਹ� ਹੁੰ ਦੀਆਂ’, ਅਖਾਣ ਨੰੂ ਪੂਰਾ ਕਰੋ।  

Q49_1 ਵੱਖ-ਵੱਖ  ਵੱਖ-ਵੱਖ  

Q49_2 ਬਰਾਬਰ ਬਰਾਬਰ 

Q49_3 ਿਨ{ਕੀਆ-ਂ ਵੱਡੀਆ ਂ ਿਨ{ਕੀਆ-ਂ ਵੱਡੀਆ ਂ 



 

 

Q49_4 ਿਵਿਭੰਨ  ਿਵਿਭੰਨ  

Q50 ‘Ravi and Shashi are his paternal uncles’ ਵਾਕ ਦਾ ਸਹੀ 

ਪੰਜਾਬੀ ਅਨੁਵਾਦ ਹੈ। 

‘Ravi and Shashi are his paternal uncles’ ਵਾਕ ਦਾ ਸਹੀ ਪੰਜਾਬੀ 

ਅਨੁਵਾਦ ਹੈ। 

Q50_1 ਰਵੀ ਅਤ ੇਸ਼ਸ਼ੀ ਉਸਦੇ ਚਾਚ ੇਹਨ। ਰਵੀ ਅਤੇ ਸ਼ਸ਼ੀ ਉਸਦੇ ਚਾਚੇ ਹਨ। 

Q50_2 ਰਵੀ ਅਤ ੇਸ਼ਸ਼ੀ ਉਸਦਾ ਚਾਚਾ ਹੈ। ਰਵੀ ਅਤੇ ਸ਼ਸ਼ੀ ਉਸਦਾ ਚਾਚਾ ਹ।ੈ 

Q50_3 ਰਵੀ ਅਤ ੇਸ਼ਸ਼ੀ ਦਵੋ� ਉਸਦ ੇਚਾਚ ੇਹਨ। ਰਵੀ ਅਤੇ ਸ਼ਸ਼ੀ ਦੋਵ� ਉਸਦੇ ਚਾਚ ੇਹਨ। 

Q50_4 ਉਸਦ ੇਰਵੀ ਅਤ ੇਸ਼ਸ਼ੀ ਚਾਚ ੇਲਗਦ ੇਹਨ। ਉਸਦੇ ਰਵੀ ਅਤੇ ਸ਼ਸ਼ੀ ਚਾਚੇ ਲਗਦ ੇਹਨ। 

Passage 

Punjabi 

ਹੇਠ ਿਲਖੇ ਪੈਰ ੇਨੂੰ  ਿਧਆਨ ਨਾਲ ਪੜ�ੋ ਤੇ ਪ�ਸ਼ਨ� ਦੇ ਉਤਰ ਿਦਉ। 

ਭਾਰਤ ਅੱਜ ਇਕ ਸੁੰ ਤਤਰ ਦੇਸ਼ ਹੈ। ਅੱਜ ਪੰਜਾਬੀ ਭਾਸ਼ਾ ਨੂੰ  ਹੋਰਨ� 

ਭਾਰਤੀ ਭਾਸ਼ਾਵ� ਦੇ ਬਰਾਬਰ ਸਨਮਾਨ ਪ�ਾਪਤ ਹ,ੈ ਅਤ ੇਇਸ ਦਾ ਵਧ ਤ� 

ਵਧ ਿਵਕਾਸ ਹ ੋਿਰਹਾ ਹੈ। 

 ਅੱਜ ਭਾਰਤੀ ਲੋਕ-ਸੰਸਿਕ�ਤੀ ਤੇ ਲੋਕ ਕਲਾ ਲਈ ਸਾਡੀ ਰੁਚੀ ਵਧੇਰ ੇ

ਿਤੱਖੀ ਤੇ ਸੂਝਵਾਨ ਹੈ। ਵਰ�-ੇਦੇ-ਵਰ�ੇ ਹੁਣ ਿਦੱਲੀ ਿਵਚ ਿਵਚ ਜਨਤੰਤਰ 

ਿਦਵਸ ਦੇ ਅਵਸਰ �ਤੇ ਦਸ਼ੇ ਭਰ ਤ� ਲੋਕ-ਨਾਚ ਦੇ ਕਲਾਕਾਰ ਇਸਤਰੀ 

ਪੁਰਸ਼� ਦੀਆ ਂਮੰਡਲੀਆ ਂਆ�ਦੀਆ ਂਹਨ, ਤੇ ਅਸ� ਇਕ ਮੰਚ �ਤੇ 

ਹੇਠ ਿਲਖ ੇਪਰੇੈ ਨੰੂ ਿਧਆਨ ਨਾਲ ਪੜ�ੋ ਤੇ ਪ�ਸ਼ਨ� ਦ ੇਉਤਰ ਿਦਉ। 

 ਭਾਰਤ ਅੱਜ ਇਕ ਸੁੰ ਤਤਰ ਦਸ਼ੇ ਹੈ। ਅੱਜ ਪੰਜਾਬੀ ਭਾਸ਼ਾ ਨੂੰ  ਹੋਰਨ� ਭਾਰਤੀ 

ਭਾਸ਼ਾਵ� ਦੇ ਬਰਾਬਰ ਸਨਮਾਨ ਪ�ਾਪਤ ਹੈ, ਅਤ ੇਇਸ ਦਾ ਵਧ ਤ� ਵਧ 

ਿਵਕਾਸ ਹ ੋਿਰਹਾ ਹ।ੈ 

 ਅੱਜ ਭਾਰਤੀ ਲੋਕ-ਸੰਸਿਕ�ਤੀ ਤ ੇਲੋਕ ਕਲਾ ਲਈ ਸਾਡੀ ਰੁਚੀ ਵਧਰੇੇ ਿਤੱਖੀ 

ਤੇ ਸੂਝਵਾਨ ਹ।ੈ ਵਰ�ੇ-ਦੇ-ਵਰ�ੇ ਹਣੁ ਿਦੱਲੀ ਿਵਚ ਿਵਚ ਜਨਤੰਤਰ ਿਦਵਸ ਦ ੇ

ਅਵਸਰ �ਤੇ ਦੇਸ਼ ਭਰ ਤ� ਲੋਕ-ਨਾਚ ਦੇ ਕਲਾਕਾਰ ਇਸਤਰੀ ਪਰੁਸ਼� ਦੀਆਂ 

ਮੰਡਲੀਆ ਂਆ�ਦੀਆ ਂਹਨ, ਤੇ ਅਸ� ਇਕ ਮੰਚ �ਤ ੇਅੰਤਰ-ਰਾਸ਼ਟਰੀ ਲੋਕ-

ਨਾਚ ਪਰੰਪਰਾ ਦਾ ਸੁਰਜੀਤ ਰਪੂ ਵੇਖਦੇ ਹ�। ਇਨ� � ਅੰਤਰ-ਭਾਰਤੀ ਨਾਚ 



 

 

ਅੰਤਰ-ਰਾਸ਼ਟਰੀ ਲੋਕ-ਨਾਚ ਪਰੰਪਰਾ ਦਾ ਸੁਰਜੀਤ ਰੂਪ ਵੇਖਦ ੇਹ�। ਇਨ� � 

ਅੰਤਰ-ਭਾਰਤੀ ਨਾਚ ਉਤਸਵ� ਿਵਚ ਪੰਜਾਬ ਦੇ 'ਿਗੱਧਾ' ਤੇ 'ਭੰਗੜਾ' ਦੀਆ ਂ

ਧੁੰ ਮ� ਪ ੈਚੁੱ ਕੀਆ ਂਹਨ। ਿਵਦੇਸ਼� ਿਵਚ ਜਾਣ ਵਾਲੇ ਕਲਾਕਾਰ� ਦੇ 

ਡੈਲੀਗੇਸ਼ਨ� ਨĂ  ਰੂਸ, ਚੀਨ ਤੇ ਹੋਰਨ� ਕਈ ਦੇਸ਼� ਿਵਚ ਿਜੱਥੇ ਵੰਨ-ਸਵੰਨĂ  

ਲੋਕਗੀਤ ਪੇਸ਼ ਕੀਤ,ੇ �ਥੇ ਿਗੱਧ ੇਤੇ ਭੰਗੜ ੇਨੂੰ  ਵੀ ਭੁਲਾਇਆ ਨਹ� ਿਗਆ। 

 ਲੋਕ ਕਲਾ ਵੱਲ ਭਾਰਤ ਦੇ ਸ਼ਿਹਰ� ਿਵਚ ਅੱਜ ਇਕ ਨਵ-ਜਾਗਰਣ ਵਾਲੀ 

ਰੁਚੀ ਅਗ�ਹ ਵਧ ਰਹੀ ਹ,ੈ ਤੇ ਲੋਕ-ਜੀਵਨ ਦੀ ਛੋਹ ਪ�ਾਪਤ ਕਰਨ ਿਵਚ 

ਬੜਾ ਗੌਰਵ ਸਮਿਝਆ ਜਾਣ ਲਗ ਿਪਆ ਹੈ। ਪਰ ਇਥੇ ਇਕ ਸੰਕਟ ਵੀ 

ਅਨੁਭਵ ਕੀਤਾ ਜਾ ਿਰਹਾ ਹੈ। ਸਾਨੂੰ  ਭੈਅ ਹ ੈਿਕ ਅਸ� ਲੋਕ-ਕਲਾ ਨੂੰ  

'ਅਜਾਇਬ ਘਰ ਦੀ ਵਸਤ'ੂ ਵ�ਗ ਹੀ ਨਾ ਸਮਝਦ ੇਰਹੀਏ। ਸਾਡੀ �ਚ 

ਸ਼�ੇਣੀ ਦੇ ਬੰਦ ੇਆਪਣ ੇਡਰਾਇੰਗ ਰੂਮ ਿਵਚ ਲੋਕ ਕਲਾ ਦੀ ਕੋਈ ਨਾ ਕੋਈ 

ਵਸਤ ੂਬੜ ੇਚਾਅ ਨਾਲ ਰਖਦ ੇਹਨ ਤੇ ਇਸ ਵੱਲ ਆਪਣ ੇਮਿਹਮਾਨ� ਦਾ 

ਿਧਆਨ ਿਖੱਚਦ ੇਹਨ। ਇਸ ਿਦਖਾਵ ੇਤੇ ਨਮੁਾਇਸ਼ੀ ਰੁਚੀ ਦੇ ਿਪੱਛ ੇਿਨ{ਗਰ 

ਕਲਾ-ਪ�ੇਮ ਨਹ� ਹੁੰ ਦਾ। ਸਾਨੰੂ ਇਹ ਗੱਲ ਪੂਰੀ ਤਰ�� ਘੋਖ ਲੈਣੀ ਚਾਹੀਦੀ ਹ ੈ

ਿਕ ਪਰੰਪਰਾ ਵ�ਗ ਲੋਕ ਕਲਾ ਇਕ ਜੀ�ਦੀ ਜਾਗਦੀ ਿਕਰਤ ਹੁੰ ਦੀ ਹੈ। 

ਉਤਸਵ� ਿਵਚ ਪੰਜਾਬ ਦ ੇ'ਿਗੱਧਾ' ਤੇ 'ਭੰਗੜਾ' ਦੀਆ ਂਧੰੁਮ� ਪ ੈਚੁੱ ਕੀਆਂ ਹਨ। 

ਿਵਦੇਸ਼� ਿਵਚ ਜਾਣ ਵਾਲੇ ਕਲਾਕਾਰ� ਦ ੇਡੈਲੀਗੇਸ਼ਨ� ਨĂ  ਰਸੂ, ਚੀਨ ਤੇ 

ਹੋਰਨ� ਕਈ ਦੇਸ਼� ਿਵਚ ਿਜੱਥੇ ਵੰਨ-ਸਵੰਨĂ  ਲੋਕਗੀਤ ਪੇਸ਼ ਕੀਤ,ੇ �ਥੇ ਿਗੱਧੇ 

ਤੇ ਭੰਗੜੇ ਨੂੰ  ਵੀ ਭੁਲਾਇਆ ਨਹ� ਿਗਆ। 

 ਲੋਕ ਕਲਾ ਵੱਲ ਭਾਰਤ ਦ ੇਸ਼ਿਹਰ� ਿਵਚ ਅੱਜ ਇਕ ਨਵ-ਜਾਗਰਣ ਵਾਲੀ 

ਰੁਚੀ ਅਗ�ਹ ਵਧ ਰਹੀ ਹ,ੈ ਤ ੇਲੋਕ-ਜੀਵਨ ਦੀ ਛੋਹ ਪ�ਾਪਤ ਕਰਨ ਿਵਚ 

ਬੜਾ ਗੌਰਵ ਸਮਿਝਆ ਜਾਣ ਲਗ ਿਪਆ ਹੈ। ਪਰ ਇਥੇ ਇਕ ਸੰਕਟ ਵੀ 

ਅਨੁਭਵ ਕੀਤਾ ਜਾ ਿਰਹਾ ਹੈ। ਸਾਨੂੰ  ਭੈਅ ਹੈ ਿਕ ਅਸ� ਲੋਕ-ਕਲਾ ਨੰੂ 

'ਅਜਾਇਬ ਘਰ ਦੀ ਵਸਤੂ' ਵ�ਗ ਹੀ ਨਾ ਸਮਝਦੇ ਰਹੀਏ। ਸਾਡੀ �ਚ ਸ਼�ੇਣੀ 

ਦੇ ਬੰਦੇ ਆਪਣ ੇਡਰਾਇੰਗ ਰੂਮ ਿਵਚ ਲੋਕ ਕਲਾ ਦੀ ਕੋਈ ਨਾ ਕੋਈ ਵਸਤ ੂ

ਬੜ ੇਚਾਅ ਨਾਲ ਰਖਦੇ ਹਨ ਤੇ ਇਸ ਵੱਲ ਆਪਣ ੇਮਿਹਮਾਨ� ਦਾ ਿਧਆਨ 

ਿਖੱਚਦੇ ਹਨ। ਇਸ ਿਦਖਾਵ ੇਤ ੇਨੁਮਾਇਸ਼ੀ ਰੁਚੀ ਦੇ ਿਪੱਛੇ ਿਨ{ਗਰ ਕਲਾ-ਪ�ੇਮ 

ਨਹ� ਹੁੰ ਦਾ। ਸਾਨੰੂ ਇਹ ਗੱਲ ਪਰੂੀ ਤਰ�� ਘਖੋ ਲੈਣੀ ਚਾਹੀਦੀ ਹੈ ਿਕ ਪਰੰਪਰਾ 

ਵ�ਗ ਲੋਕ ਕਲਾ ਇਕ ਜੀ�ਦੀ ਜਾਗਦੀ ਿਕਰਤ ਹੁੰ ਦੀ ਹ।ੈ 

Q51 ਉਪਰਕੋਤ ਪੈਰ ੇਦਾ ਢਕੁਵਾ ਿਸਰਲੇਖ ਿਲਖੋ: ਉਪਰਕੋਤ ਪਰੇੈ ਦਾ ਢਕੁਵਾ ਿਸਰਲੇਖ ਿਲਖੋ: 



 

 

Q51_1 ਭਾਰਤੀ ਸਿਭਆਚਾਰ ਭਾਰਤੀ ਸਿਭਆਚਾਰ 

Q51_2 ਲੋਕ ਕਲਾਵ� ਦਾ ਵੱਧ ਿਰਹਾ ਮਹੱਤਵ ਲੋਕ ਕਲਾਵ� ਦਾ ਵੱਧ ਿਰਹਾ ਮਹੱਤਵ 

Q51_3 ਪੰਜਾਬੀ ਭਾਸ਼ਾ ਦਾ ਮਹੱਤਵ ਪੰਜਾਬੀ ਭਾਸ਼ਾ ਦਾ ਮਹੱਤਵ 

Q51_4 ਲੋਕ ਕਲਾ ਦੀ ਜ਼ਰੂਰਤ ਲੋਕ ਕਲਾ ਦੀ ਜ਼ਰਰੂਤ 

Q52 ਅੰਤਰ-ਰਾਸ਼ਟਰੀ ਨਾਚ ਉਤਸਵ� ਿਵਚ ਪੰਜਾਬ ਦੇ ਿਕਹੜ ੇਨਾਚ ਪੇਸ਼ ਕੀਤ ੇ

ਜ�ਦੇ ਹਨ: 

ਅੰਤਰ-ਰਾਸ਼ਟਰੀ ਨਾਚ ਉਤਸਵ� ਿਵਚ ਪੰਜਾਬ ਦੇ ਿਕਹੜੇ ਨਾਚ ਪੇਸ਼ ਕੀਤੇ 

ਜ�ਦੇ ਹਨ: 

Q52_1 ਝੰੁਮਰ  ਝੰੁਮਰ  

Q52_2 ਿਕੱਕਲੀ ਿਕੱਕਲੀ 

Q52_3 ਭੰਗੜਾ ਅਤ ੇਿਗੱਧਾ ਭੰਗੜਾ ਅਤ ੇਿਗੱਧਾ 

Q52_4 ਭੰਗੜਾ, ਿਗੱਧਾ ਤੇ ਸੰਮੀ ਭੰਗੜਾ, ਿਗੱਧਾ ਤੇ ਸੰਮੀ 

Q53 ਲੋਕ ਸੰਸਿਕ�ਤੀ ਅਤ ੇਕਲਾ ਲਈ ਭਾਰਤ ਿਵਚ ਕੀ ਉਪਰਾਲੇ ਕੀਤ ੇਜ�ਦੇ 

ਹਨ: 

ਲੋਕ ਸੰਸਿਕ�ਤੀ ਅਤੇ ਕਲਾ ਲਈ ਭਾਰਤ ਿਵਚ ਕੀ ਉਪਰਾਲੇ ਕੀਤੇ ਜ�ਦ ੇਹਨ: 



 

 

Q53_1 ਜਨਤੰਤਰ ਿਦਵਸ 'ਤੇ ਪੇਸ਼ ਲੋਕਨਾਚ ਅਤ ੇਕਲਾਕਾਰ ਮੰਡਲੀਆ ਂਵਲ�  

ਿਨ� ਤ ਪੇਸ਼ਕਾਰੀਆ ਂ

ਜਨਤੰਤਰ ਿਦਵਸ 'ਤ ੇਪੇਸ਼ ਲੋਕਨਾਚ ਅਤ ੇਕਲਾਕਾਰ ਮੰਡਲੀਆ ਂਵਲ� ਿਨ� ਤ 

ਪੇਸ਼ਕਾਰੀਆ ਂ

Q53_2 ਿਵਿਭੰਨ ਮੰਡਲੀਆ ਂਵੱਲ�  ਿਨ� ਤਪ�ਤੀ ਅਵਲੇਹਨਾ। ਿਵਿਭੰਨ ਮੰਡਲੀਆਂ ਵੱਲ� ਿਨ� ਤਪ�ਤੀ ਅਵਲੇਹਨਾ। 

Q53_3 ਅੰਤਰ-ਰਾਸ਼ਟਰੀ ਲੋਕਨਾਚ� ਪ�ਤੀ ਿਖੱਚ ਅੰਤਰ-ਰਾਸ਼ਟਰੀ ਲੋਕਨਾਚ� ਪ�ਤੀ ਿਖੱਚ 

Q53_4 ਲੋਕ� ਿਵਚ ਚੇਤਨਤਾ ਲੋਕ� ਿਵਚ ਚੇਤਨਤਾ 

Q54 ਲੋਕਕਲਾ ਦੀ ਪੇਸ਼ਕਾਰੀ ਿਵਚ ਭਿਵੱਖੀ ਖ਼ਤਰਾ ਨਹ� ਹੈ ਲੋਕਕਲਾ ਦੀ ਪੇਸ਼ਕਾਰੀ ਿਵਚ ਭਿਵੱਖੀ ਖ਼ਤਰਾ ਨਹ� ਹ ੈ

Q54_1 ਲੋਕ ਕਲਾਵ� ਨੂੰ  ਅਜਾਇਬ ਘਰ ਦੀ ਵਸਤ ੂਸਮਝਣਾ। ਲੋਕ ਕਲਾਵ� ਨੰੂ ਅਜਾਇਬ ਘਰ ਦੀ ਵਸਤ ੂਸਮਝਣਾ। 

Q54_2 ਡਰਾਇੰਗ ਰੂਮ ਿਵਚ ਅਮੀਰ� ਵੱਲ�  ਬਣਾ ਸਜਾ ਕ ੇਰੱਖਣਾ ਡਰਾਇੰਗ ਰਮੂ ਿਵਚ ਅਮੀਰ� ਵੱਲ� ਬਣਾ ਸਜਾ ਕ ੇਰੱਖਣਾ 

Q54_3 ਿਦਖਾਵ ੇਅਤ ੇਨਮੁਾਇਸ਼ੀ ਰੁਚੀ ਰੱਖਣਾ ਿਦਖਾਵੇ ਅਤ ੇਨੁਮਾਇਸ਼ੀ ਰਚੁੀ ਰੱਖਣਾ 

Q54_4 ਲੋਕ ਕਲਾ ਲਈ ਿਨਗਰ ਪ�ੇਮ ਲੋਕ ਕਲਾ ਲਈ ਿਨਗਰ ਪ�ਮੇ 

Q55 ਲੋਕ ਕਲਾਵ� ਸੰਸਿਕ�ਤੀ ਤੇ ਪਰੰਪਰਾ ਿਵਚਲੀ ਿਕਸ ਹ�ਦ ਨੂੰ  ਪੇਸ਼ ਕਰਦੀਆ ਂ

ਹਨ। 

ਲੋਕ ਕਲਾਵ� ਸੰਸਿਕ�ਤੀ ਤ ੇਪਰੰਪਰਾ ਿਵਚਲੀ ਿਕਸ ਹ�ਦ ਨੰੂ ਪਸ਼ੇ ਕਰਦੀਆਂ 

ਹਨ। 

Q55_1 ਿਦਖਾਵ ੇਦੀ ਿਦਖਾਵੇ ਦੀ 



 

 

Q55_2 ਭੇੜ-ਚਾਲ ਦੀ ਭੇੜ-ਚਾਲ ਦੀ 

Q55_3 ਜੀ�ਦੀ ਜਾਗਦੀ ਿਕ�ਤ ਜੀ�ਦੀ ਜਾਗਦੀ ਿਕ�ਤ 

Q55_4 ਮੁਕਾਬਲੇ ਅਤ ੇਈਰਖਾ ਦੀ ਮੁਕਾਬਲੇ ਅਤ ੇਈਰਖਾ ਦੀ 

Digital Literacy and Awareness / ਿਡਜ਼ੀਟਲ ਸਾਖਰਤਾ ਅਤੇ ਜਾਗਰੂਕਤਾ 

Q56 In MS Excel 2019, which shortcut key is used to edit the 

selected cell? 

MS Excel 2019 ਿਵੱਚ, ਿਕਹੜੀ ਸ਼ਾਰਟਕੱਟ-ਕੀ ਇੱਕ ਿਵਸ਼ਸ਼ੇ ਸ{ੈਲ ਿਵੱਚ 

ਜਾਣ ਲਈ ਵਰਤੀ ਜ�ਦੀ ਹ?ੈ 

Q56_1 F2 F2 

Q56_2 F3 F8 

Q56_3 F4 F5 

Q56_4 F5 F3 

Q57 In MS PowerPoint 2019, which shortcut key is used to 

start the slide show from first slide? 

MS PowerPoint 2019 ਿਵੱਚ, ਿਕਹੜੀ ਸ਼ਾਰਟਕੱਟ-ਕੀ ਦੀ ਵਰਤ� 

ਪਿਹਲੀ ਸਲਾਈਡ ਤ� ਸਲਾਈਡ ਸ਼ੋਅ ਸ਼ੁਰੂ ਕਰਨ ਲਈ ਕੀਤੀ ਜ�ਦੀ ਹ?ੈ 

Q57_1 F6 F6 

Q57_2 F8 F8 

Q57_3 F5 F5 

Q57_4 F3 F3 



 

 

Q58 The hardware in a computer system in which data is stored 

is called: 

ਇੱਕ ਕੰਿਪਊਟਰ ਿਸਸਟਮ ਿਵੱਚ ਉਸ ਹਾਰਡਵੇਅਰ ਨੰੂ ਕੀ ਿਕਹਾ ਜ�ਦਾ ਹ ੈ

ਿਜਸ ਿਵੱਚ ਡਾਟਾ ਸਟੋਰ ਕੀਤਾ ਜ�ਦਾ ਹ?ੈ 

Q58_1 Motherboard ਮਦਰਬੋਰਡ 

Q58_2 Memory ਮੈਮੋਰੀ 

Q58_3 Chip ਿਚੱਪ 

Q58_4 Peripheral ਪੈਰੀਿਫਰਲ 
 


